CALDWELL PARISH

PLANT ENTERPRISES PRODUCTION

Cron	Number of	A	Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated (Total)		10,162.0	700.00	7,113,400	lbs.	\$3,425,813
Seed - Non-irrigated (Total)		10,162.0	1,120.00	11,381,440	lbs.	\$548,585
Cotton (Total)	25	10,162.0				\$3,974,399
FORESTRY						
Pulpwood						
Pine				116,983		
Hardwood				36,140	cords	
Pulpwood (Total)				153,123		
Chip & Saw (Total)				42,978	cords	
Saw Timber						
Pine				13,838,446		
Hardwood					board feet	
Saw Timber (Total)				18,783,802		
Total Pulpwood, Chip & Saw,						\$25,140,636
Saw Timber FOB Mill						
Total Forestry Stumpage						\$12,190,502
(Total)						
Christmas Trees (Total)	*			20	trees	\$800
Forestry (Total)						\$25,141,436
FRUITS						
Peaches (Total)	*	4.0	200.00	800	bu.	\$32,000
Fruits (Total)		4.0				\$32,000
FEED GRAINS						
Corn (Total)	*	1,017.0	100.00	101,700	bu.	\$269,505
Feed Grains (Total)		1,017.0				\$269,505
HAY FOR SALE						
Grass (Total)	25	1,500.0	1.50	2,250	tons	\$207,900
Hay for Sale (Total)		1,500.0				\$207,900
Home Gardens (Total)	600					\$120,000

Alligators (Wild) (Total)				142	ft.	\$3,563
Fisheries	Producers		Production	Production	Measure	Value
	Number of		Units of	Total	Units of	Gross Farm
	FISHER	IES & WILD	<u>LIFE ENTERPRISES</u>	PRODUCTION		
TOTAL ALL PLANT ENTER	PRISES					\$31,987,477
Soybeans (Total)	10	5,201.0	25.00	130,025	bu.	\$761,426
Sod Production (Total)	*	175.0			acre	\$875,000
Rice (Total)	*	1,249.0	50.00	62,450	cwt.	\$555,805
Pecans (Total)		135.0				\$50,006
Native (Total)	11	15.0	225.00	3,375	lbs.	\$3,206
Improved (Total)	*	120.0	300.00	36,000	lbs.	\$46,800
PECANS						

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
A11: (W/11) (T (1)	110 000 010	110000				
Alligators (Wild) (Total)				142	It.	\$3,563
HUNTING LEASES						
Waterfowl (Total)	*	4,000	No. Acres		acre	\$200,000
			Leased			
All Other Game (Total)	35	200,000	No. Acres		acre	\$1,400,000
			Leased			
Hunting Leases (Total)						\$1,600,000
TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES						\$1,603,563

ANIMAL ENTERPRISES PRODUCTION					
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			440	head	\$218,726
400-500 lbs.			438	head	\$244,305
500-600 lbs.			650	head	\$397,933
600-700 lbs.			540	head	\$371,183
Steer Calves (Total)					\$1,232,147
Heifer Calves					
300-400 lbs.			340	head	\$150,095
400-500 lbs.			410	head	\$213,928
500-600 lbs.			350	head	\$202,337

CALDWELL PARISH 85

CALDWELL PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
600-700 lbs.				320	head	\$213,158
Heifer Calves (Total)						\$779,518
Yearling Cattle						
600-700 lbs.				410	head	\$266,367
700-800 lbs.				425	head	\$302,653
Yearling Cattle (Total)						\$569,020
Cow-Calf Pairs (Total)				575	pair	\$546,371
Cull Cows (Total)				495	head	\$187,234
Cull Bulls (Total)				138	head	\$116,686
Cattle & Calves (Total)	300	4,520	No. Cows			\$3,430,975
HORSES						
Brood Mares						
Show Horses	10	38]	No. Brood Mares	25	head	\$100,000
Recreation Horses	710	40	No. Brood Mares	32	head	\$48,000
Brood Mares (Total)						\$148,000
Stud Fees						
Show Horses		4]	No. Stallions	120	mares bred	\$180,000
Recreation Horses		8 1	No. Stallions	110	mares bred	\$55,000
Stud Fees (Total)						\$235,000
Show Horses (Total)	*			8	head	\$40,000
Recreation Horses (Total)	710			1,100	head	\$1,650,000
Horses (Total)						\$2,073,000
GOATS						
Show Goats (Total)				8	head	\$2,000
Slaughter Goats (Total)				80	head	\$10,000
Stocker Goats (Total)				75	head	\$7,125
Cull Goats (Total)				25	head	\$1,625
Goats (Total)	20	140	No. Does			\$20,750

EXOTIC ANIMALS

Llama (Total)*4 No. Animals0 head\$0Exotic Animals (Total)\$0TOTAL ALL ANIMAL ENTERPRISES\$5,524,725

CALDWELL PARISH \$39,115,765 87